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There is a ‘Cool-off time” of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A

Answer all questions from 1 to 5. Each carries 1 Score. B x1=5)

1.  Feeding data to a computer for processing is known as

2. Pick out the correct form of absolute reference from the following :

(a) $A3 (b) $A3$
(c) $AS3 (d) AS$3$
3. view of slides in a presentation is used to re-arrange the order of slides.

4. Which subtractive colour method is used in colour printing ?

5. InKerala are working as common service centres.
PART - B
Answer any 9 questions from 6 to 16. Each carries 2 Scores. 9 x2=18)

6.  What are the advantages of UNICODE compared to other coding schemes ?

7. Due to safety reasons e-waste should never be handled carelessly. Suggest the ways to
dispose e-waste safely.

8.  How will you give continuous numbers from 1 to 100 in a column of Calc
worksheet ?

9.  What is sorting ? How do you sort the data in a Calc worksheet ?

10. (a) Define slide transition.

(b) How will you set different timings for showing different slides in Impress
software ?

11. Explain any two transform tools in GIMP software.
12.  What do you mean by anchoring a layer ? Write steps to anchor a layer in GIMP.

13.  What are the characteristics of optical fibre cable that makes it a good medium for long
distance data transmission ?
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11.
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13.

PART - A
1 2)®@3 5 QIOOW)SS af) LI G2 I0BEBIREN) DAMOOAL)M)d. 1 ¢apod allo.

(5x1=5)
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(a) $A3 (b) S$A3$

(c) $AS3 (d) AS$3$
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PART -B
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2 ¢apod afloeo. 9x2=18)
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14. What is a search engine ? Give two examples.
15. Explain any two threats that affect the security of a computer network.

16. “Through e-learning we can overcome many limitations of conventional teaching —
learning process.” Give any two reasons that justify this statement.

PART -C
Answer any 9 questions from 17 to 27. Each carries 3 Scores. 9 x3=27)

17. Write any three features of computer that makes it superior to human beings in data
processing.

18. Ports on the motherboard are used to connect external devices. Explain about any three
types of ports.

19. Given below is a Calc worksheet showing the data of three salesmen.

A B C D E F
1 Salesman Code | Quarter 1 | Quarter 2 | Quarter 3 | Total Sales | Commission
2 S101 4000 3000 5000
3 S102 5000 4000 3000
4 S103 3500 2000 4000

On the basis of the above data write formulas (in Calc) to do the following :

(i) Calculate the total sales of each salesman as sum of his sales for all the three
quarters.

(i) Calculate commission of each salesman as 10% of his total sales.
20. Briefly explain any three mathematical functions used in Calc software.

21. Explain any three types of charts used in a spread sheet.

22. (a) What are gradient fill and hatching ? 2)
(b)  Which menu in Impress software is used to give gradient fill and hatching pattern

to a presentation slide ? 1)

23. (a) Name the different types of image editors. 1)

(b) Give one example each for each type of image editor. 1%)
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PART -C
17 ay@@3 27 190088 23Sl agomslele 9 af)anomim  2emos
af) ). (3 capod all@o) 9x3=27)
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aBO®EIENo MM TVANCUIAHDBHUD af)PLM.
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DalCWOUHNIMN®). ABOMESIEI MANI00 CaldBFBHOSHMAN 2] QllaIBlen)d:.

19.  ®oevomaldlenmm® @an) HALVIGIVAMBAOPS WoQ GHoemlaman ae) Calc
QIBSPHIQ @Y.

A B C D E F
1 Salesman Code | Quarter 1 | Quarter 2 | Quarter 3 | Total Sales | Commission
2 S101 4000 3000 5000
3 S102 5000 4000 3000
4 S103 3500 2000 4000

MBF OGSO AWIQWOS  @RSITLOIMATI@  EWa|OWAN  HOOYEBUD

62190mM38 Calc GaNIBM)LIBHUB af) )@ :

(i) ®cod ervaladavaced@) Total Sales oM@ GRVIZOS @A)
D0A50)BElceIW)o HAVVAGAVIHM @)HWIW] HEMINIA ).

(i)  B9c0 HAVWIGAIVAIECFW)o COMMISSION af)IN® GPWORB)OS total sales 63 10%
@R BHEMENI BN ).

20. Calc  €IVLOANSEHAIVOIGE  DaICVWOWIGNM  RO@BIEN  MAN  AITHAIGIHNG3
aNoNaHM)BHUB 2101063 AflIBlHe)0.

21, 80} oMW oHIGIed 2alcoWlanIM ago@®lene MIN @0 2108)BHOBSNOa]

QflvoBRHN)B.
22. (a) Gradient fill, hatching agyamlal ag)amosm ? 2)
(b) Impress cIVaNSHAIVWOIES B0} (AITVEBaHM HOTYWIM gradient fill, hatching
pattern ag)anlQl M@BHIMAICROSHN)MM HAM) aB@® ? (§))
23. (a) aflallw ®™oo NEALR ad)WIGO)BHBIOS CalOO9)D)H. 1%2)
(b) B0 ®Oo HEAER afWIQO)RHUBAEN) BICOI RBIaOMo AllGo af)9)®)H. 1%%)
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24. What is the use of path tool in GIMP software ? How can you add or remove an anchor
point in a path ?

25. What is the use of the following devices in data communication ?
(1) Switch
(1)) Repeater
(i11)) Bridge

26. What are the different ways by which we can share an internet connection among
several computers ?

27. Write short notes on the following ICT enabled services :
(a) BPO
(b) Call Centre
(c) Video Conferencing

PART -D
Answer any 2 questions from 28 to 30. Each carries S Scores. 2x5=10)

28. System software and Application software are the two types of softwares.
(a) Name the system software that acts as an interface between user and the

hardware. 1)

(b) Compare the language processors assembler and compiler. 2)

(c) Explain any two types of general purpose application software. 2)

29. (a) Give 2 example each for the following type of filters : 3)

(1) Blur filter
(i1) Distort filter
(i11) Artistic filter

(b)  Write the use of the filters Lensflare and Supernova. 2)
30. (a) What is network topology ? 1
(b) Explain the characteristics of any two topologies with diagram. “4)
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24, GIMP eavoans eaiol@d path 581608 ©alc@Ino of)a® ? B30) path@d 60) GH:A
CaldDIad ,)51¢a|3E9)HEWI af)S)TMAIGIGHEW alYIINO@EBOM ?

25, awog &2 eMIEaneHMIT3 IOY al0WIAN DaldbOMEBGINS DalCWONo af)O® ?
(i) avfllaf
(i) dlafigd

(ii1) (Enilawe’

26.  saleidfldo HMIYFO)HURBE BCO HABAOMY HEMBeHM algh)eaIomas afllaflw
20BPEBUB aBO@ELJ00 ?

27. oevomanldleman  ICT  @rwladdl®  crvaIimemesedlal  ©al10)@)Gla|
QYO0
(a) BPO
(b) Call Centre (¢0036a0033@)
(¢) Video Conferencing (aflalfleo ¢a06m anoamdaflow))

PART -D
28 2y®@38 30 A1POVBB €2 1035IBST3 aBO@BIIEI 2 afANOTIM DOMOOHAY®)d>.
5 ¢apod alloeo. 2x5=10)
28.  alqyo cOLOANEHAIWVAE, BRYICHNHIB CATVIANG HAIVA o)V OMNE)BO0 CAVIANY
QUWO)HSIEM.
(a)  ©@IVOIMYe a02BAWHAIOIMYe HSOIENSS HAABENTV BRI (nIAIAGITIHS )M
MlaLo GAVOANY HAIVAIOHAT CalOOHY®). @)
(b)  BoaIDleId, @PAVEEYYAB AV LILENILR B IDTVAVOIHOBTMAIGI GIO®A Yo
621Q))d>. ?2)
() oBo®BIL OIE @O VMOG  al@a|aTV @R lCHDUM  EIVOaNY
OQIWO)DHO8890l2] ANlQICIE)H. 2)
29. (a) ©@I69a]0W)AM BIEMI OASa | aflBEEZAIM)0 EEEY3Ia0MEMo ANl ag)P)B)h: 3)

(1)  enJA adlwdgA
(i) awlequods arl@dsd
(iii) ®RASIAYl®; afl@dgd
(b) ORIV OagWAE, MV)a|BEMIAI af)aTil aflGEZO)DHRIOS DaIEGWINO af) 9} ). 2)

30. (a) omQaIBHs €SOCa|o8Ed af)MOGLITD ? 1)
(b) apo®®IEN M €S0G[o8edldB)OS  VANCNHEDBUWB AWV
Va0V EBMINS QflAIG] ). 4)
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